Table 14. Use of lures and repellents in vineyards for the management of MALB, 8/31/09 to
9/17/09.

Location / Treatment n MALB per Proportion of clusters MALB per
cluster with fresh damage yellow stick card

Hastings, MN 1

Lure/trap/repellent area 6 0.36 0.63 4.25

Untreated check area 6 0.49 0.66 -

Hastings, MN 2

Lure/trap/repellent area 6 0.31 0.74 512

Untreated check area 6 0.41 0.77 -

Stillwater, MN

Lure/trap/repellent area 6 0.00 0.26 0.70

Untreated check area 6 0.00 0.25 -

Somerset, WI 1

Lure/trap/repellent area 6 0.00 0.04 0.88

Untreated check area 6 0.00 0.01 -

Somerset, WI 2

Lure/trap/repellent area 6 0.00 0.06 0.36

Untreated check area 6 0.00 0.05 -

Total

Lure/trap/repellent area 30 0.13 0.33 2.14

Untreated check area 30 0.17 0.33 -
NS NS NS

NS = not significant.



Table 15. Use of lures and repellents in vineyards for the management of MALB, 8/26/10 to
9/9/10.

Location / Treatment n MALB per Proportion of clusters MALB per
cluster with fresh damage yellow stick card

Hastings, MN 1
Repellent area 5 0.01 0.50 -
Between lure and

repellent area 5 0.00 0.47 0.47

Untreated check area 5 0.00 0.50 --

Hastings, MN 2

Repellent area 5 0.01 0.90 -

Between lure and

repellent area 5 0.04 0.86 1.05

Untreated check area 5 0.03 0.85 --

Stillwater, MN

Lure/trap 5 0.01 0.61 0.03

Untreated check 5 0.00 0.51 --

Somerset, WI

Lure/trap 5 0.00 0.22 0.03

Untreated check 5 0.00 0.30 --
NS NS NS

NS = not significant.

Table 16. Use of lures and repellents in vineyards for the management of MALB, 8/30/11 to
9/9/11.

Location / Treatment n MALB per Proportion of clusters MALB per
cluster with fresh damage yellow stick card

Hastings, MN
Repellent area 4 0.00 0.97 -
Between lure and
repellent area 4 0.00 0.84 0.30
Untreated check area 4 0.00 0.90 -

NS NS
Stillwater, MN
Lure/trap 4 0.00 0.17 0.05
Untreated check 4 0.00 0.12 -

NS NS
Somerset, WI
Lure/trap 4 0.00 0.09 0.09
Untreated check 4 0.00 0.05 -

NS NS

Means within columns followed by the same letter are not significantly different, t-test; NS = not
significant.



